(Held on: 29-10-06)

Andhra Bank PO Exam

(Based on memory)

Test I: Reasoning Ability

What will be next term in the following series?

A B BDCFDH EJ

DN 2)0 HK 4HF 5) None of these
How many such digits are there in the number 3246759,
each of which will occupy the same position when rear-
ranged in ascending order as in the number?

1) None 2) One 3) Two

4) Three 5) More than three

Shyam walked 6 metres facing towards East, then took a
right turn and walked a distance of 9 metres. He then
took a left turn and walked a distance of 6 metres. How
far is he from the starting point?

1) 15 metres 2) 21 metres 3) 18 metres

4) Cannot be determined 5) None of these
If the positions of the first and the sixth letters in the

word CONTAGIOUS are interchanged, similarly the po-

sitions of the second and the seventh letters are inter-
changed, and so on, which letter will be the second to
the right of the fifth letter from the right ?

HOo 2)N 3)I 4T  5) None ofthese
How many such pairs of letters are there insthe.word
RECRUIT, each of which has as many letters.between
them in the word as in the English alphabet?

1) None 2)One 3).Two

4) Three 5) More than three

Directions (Q. 6-10): In each of the questions below are

given four statements followed by three conclusions num-
bered I, Il and I1I. You have to take the given statements to be
true even if they seem to be at variance with commonly known
facts. Read all the conclusions and then decide which of the
given conclusions logically follows from the given state-
ments disregarding commonly known facts.

6.

7.

Statements: a. All clouds are storms.
b. Some storms are cyclones.
c. All cyclones are thunders.
d. Some thunders are lightning.
Conclusions: I. Some lightnings are cyclones.
I1. No lightning is a cyclone.
I11. Some cyclones are clouds.

1" Only I follows 2) Only 11 follows
3) Only III follows 4) Only either I or II follows
5) None of these

Statements: a. Some pins are needles.
b. Some needles are handles.
¢. Some handles are locks.
d. Some locks are keys.

Conclusions: L. Some keys are handles.
I1. Some handles are pins.
ITI. Some pins are keys.

1) None follows 2) Only 1 and II follow
3) Only Il and Il follow  4) Only I and I11 follow
5) All follow

8. Statements: a. Allhills are mountains.
b. All mountains are dams.
¢. Some dams are rivers.
d. All rivers are lakes.
Conclusions: I, Some hills are lakes.
IL._Some dams are lakes,
LII. Some dams are hills.
1) Only I'and Tl follow 2) Only I1 and 11 follow
3) Onlyd and III follow 4) All follow
5).None of these :

9. _Statements: a. Some receipts are challans.
b. Some challans are papers.
¢. Some papers are books.

d. All books are files.
Conclusions: I. Some papers are files.
I1. Some books are receipts.
H1. No book is a receipt.
1) Only I follows 2) Only I and 11 follow
3) Only I and either Il or [II follow
4) Only I and 111 follow
5) None of these
10. Statements: a. All bottles are jars.
b. All jars are containers.
c. All containers are lids.
d. All lids are caps.
Conclusions: I. All bottles are lids.
II. All containers are jars.
HI. Some lids are jars.

1) Only I and 11 follow 2) Only 11 and 111 follow
3) Only [ and I follow 4) None follows
5) All follow

Directions (Q. 11-15): Each of the questions below con-
sists of a question and three statements numbered I, Il and
III given below it. You have to decide the data provided in
which of the statements are sufficient to answer the ques-
tion. Choose your answer accordingly.

11. Among P, T, J, F and L. who scored the highest?

I. Pscored less than J and F.

I1. T scored more than F but less than L.

L. J has not scored the highest.

1) Only I'and 11 2) Onlyland Il

3) Only H and either 1 or [11 4) Only I and either I or 111

S)AIllL ITand HI
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12. Pillar ‘P’ is in which direction with respect to pillar "Q’?

L Pillar ‘M’ is to the East of pillar T, which is to the

South of pillar ‘Q’.

I Pillar 'P'is to the North of pillar ‘M’.

I11. Pillar ‘R'is to the North of pillar ‘P’ and to the East of
pillar ‘Q'. ‘

1) Only I and II 2) Only I and 111

3) Only Il and either Ior III  4) Only I1I

S)AHT, I1and III

13. What is the code for ‘adequate’ in a code language?
I. In the code language, ‘rainfall is adequate’ is written

as ‘voal ji’,

IL. In the code language, 'food is adequate’ is written as
'vojifa’ .

IIL. Inthe code language, ‘food is delicious’ is written as
‘favore’.

1)Onlyl and 11 2)Only I and 11T

3)Onlylandll 4 AllL I and 111

5) None of these
14. How is Sanjeev related to Radha?
I Sanjeev is the son of Radha’s grandfather’s only
daughter.
II. Sanjeev has no siblings.
I11. Radha has only one brother.
1) Only I and I 2) OnlyIand Il
3) Only Il and I11 4) Only I and either I or I1I
5) None of these
15. How many children are there in the class?
I Saurabh is fifth from the top if arranged in descend-

ing order of marks.
Il Sulabha, who is ten ranks below Saurabh, is 25th from
the bottom.
I1L. Jatin is four ranks above Sulabha.
1) Only I and I11 2) Only Il and 111
3)Onlyland Il 4) Any two of three

5) None of these
Directions (Q. 16-20): In a certaininstruction system
the different computation processes are written as follows:
() x@y# zmeans x is multiplied by the sum of y and z.
(i) x © y % zmeans y is divided by z and the resultant is
added to square of x.
(iii) x $ y* zmeans z is subtracted from the product of x
and y.
(iv) x®y & zmeans z is subtracted from y and the result-
ant is added to x.
In each of the following questions, a set of instruction
sequence is given. You are required to find out the outcome
which should come in place of the question mark (?) in each

of the given sets of sequence.
16. 13 @ 4#3=p

p$5s K 55=2
1) 45 2)75 3)340
4)400 5) None of these

17. 5049%7=a
a®gB87 g 29=7
1)118 2) 108 3)98
4)80 5) None of these
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18. 1784 x* 8 =1t
7€t % 15 =79
111 2) 53 3)13
4)51 5) None of these

19. m® 78 & 56 =50

' m@7#13=27
1)560 2) 56 3)280
4) Cannot be determined 5) None of these

20. b$ 15% 18 =42

 b©36%9=" :

D12 2) 16 3)20
418 5) None of these

Directions (Q. 21-25): In each of the following ques-
tions, a group of letters is to be coded by number/symbol
codes given below and the conditions that follow. In each
question, a group of letters is given followed by groups of
number/symbol code numbered (1), (2),(3) and (4). The
correct combination of codes is your answer. If none of the
four combinations is correct, Your answer is (5), ie None of
these.

Letter;:P DAFLHMRKT BEU
Code: 3.6 # 8 $ 4 27T@9 51 %
Conditions:.(i). If the first letter is a vowel and the last letter
is a consonant, both are to be coded as '0'.

(i) If the first letter is a consonant and the last
letter is a vowel, both are to be coded as '©'.
(iii) If the first as well as the last letter are vow-
els, both are to be coded as the code for first

letter.

21. KEDURT

N@I6%T@  2)916%7@ 3)916%79
. 4)@16879 5) None of these

2. EDRTMP
1)167923 2)167921 3)067920
4)067923 -5) None of these

23. FHRAMU
1) 847428 2)%A47428 3)84742%
4)©47#20 5) None of these

24. ULTPHE
1)%6$934% 2) 189341 3)%8$9341
4) 1$934% 5) None of these

25. HKEDLB
1)5@16%4 2)4@16$5 3)4@16%4
4)0@1685 5) None of these

Directions (Q. 26-30): Study the following information
carefully and answer the questions given below:

A private bank deputed eight of its managers P, T, D,E,
J, Q, M and R to different cities Bangalore, Delhi, Chennai,
Hyderabad, Jaipur, Cochin, Pune and Ahmedabad for mar.
keting of three different products X, Y and Z. The order of
managers, cities and products is not necessarily the same.
Each product is marketed in not less than two cities and not
more than three cities.

T goes to Delhi for marketing of product Y. J goes to
Hyderabad for marketing of product Z. E does not go to
Bangalore or Jaipur and markets the same product as M, who
goes to Ahmedabad. R goes to Chennai for marketing of
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product Z. Same product is marketed in Bangalore and Delhi.
E and Q are marketing the same product. P goes to Pune for
marketing of product Z.
26. Which of the following groups of managers go for mar-
keting product ‘X’?
DE,Q,R 2)J,Q,M
HQ,MR 5) None of these
27. E goes to which of the following cities?
1) Jaipur 2) Cochin 3) Ahmedabad
4) Cannot be determined 5) None of these
28. Which of the following combination of product, man-
ager and city is correct?
1) X -Q-Jaipur
3) X - E - Bangalore

3, M, R

2) X-Q-Cochin
4)Y - D - Cochin

- 5) None of these
29. Which of the following persons go for marketing of prod-
uctY?
)Q,D,M 2)Q,T 3)T,D,Q
HT,D 5) None of these
30. Who goes to Bangalore?
DQ 2) M 3)D
4)DorQ 5) None of these

Directions (Q. 31-35): In the following questions, the
symbols @, #, $, * and © are used with different meanings
as explained below:

‘A @B’ means ‘A is neither smaller than nor equal to B’.

‘A # B’ means ‘A is not greater than B’.

‘A $ B’ means ‘A is neither greater than nor equal to B’

‘A% B’ means ‘A is neither greater than nor smaller than B.

‘A ©B' means ‘A is not smaller than B’.

Assuming the above statements to bo true, you have tode-
cide which of the conclusions is/are deﬁnitely true andithen
mark your answer accordingly.

31. Statements: F@J,J#R,R *L,LOM

Conclusions: . F§R IL M#R M.MOJ
1)None istrue  2) Onlylistrue ,3)Only Il is true
4) Only either IT or 111 is true 5) All are true
32. Statements: TH#W, W$Q,QO D, D@ J
Conclusions: LJST ILT#) NLT$Q
1) Only I and 111 are true
2) Only either I or I1 is true
3) Only II and I are true
4) Only I11 and either I or II are true
5) None of these
33." Statements: L#V,VSE,E©QU,U@B
Conclusions: LBSE ILLSE MEB*L
1)Onlyland Il aretrue  2) Only Ill is true

3) Only either 1 or Il is true 4) All are true
5) None of these
34, Statements: MS$T,T*R, R@H,H#G

Conclusions: L. M $ H ILR@G IIILM#R
1) Onlylistrue 2)OnlyIlistrue 3)Only Illistrue
4)Allaretrue  5) None is true

35. Statements: HOR,R@W, W * FJ$§F :
Conclusions: L H@F ILJSW IILR@J
1)Onlyland Il aretrue  2) Only Il and Il are true
3) Only Il is true

4) Only either L or II1 is true
5) Allare true : :
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Directions (Q. 36-40): Study the following information
carefully and answer the questions given below:

Eight persons A, B, C, D, E, F, G and H are sitting around
a rectangular table in such a way that two persons sit on
each of the four sides of the table facing the centre. Persons
sitting on opposite sides are exactly opposite each other.

D faces North and sits exactly opposite H. E is in the
immediate left of H. A and G sit on the same side. G is exactly
opposite of B, who is on the immediate right of C. A is next to
the left of D.

36. Who is sitting opposite A?

NG 2)D 3)E
4HC 5) None.of these

37. Who is next to E in clockwise direction?
NG 2)B 3)F
HAorF 5) None of these

38. Which of the following pairs of persons has both the
persons sitting on the“same side with the first person
sitting on the right-of the second person?

1) DF 2)CB 3)FC
HAG 5) None of these

39. Who is sitting opposite E?

D 2)A 3)F
4) A orD 5) None of these

40. Whichwof the following statements is definitely true?

1),Avis facing North.

2) E is sitting opposite F.

3) F is on the left of G.

4) Cis on the left of A.

5) None of these

Directions (Q. 41-45): Below in each question are given
two statements (A) and (B). These statements may be either
independent causes or may be effects of independent causes
or a common cause. One of these statements may be the
effect of the other statement. Read both the statements and
decide which of the following answer choices correctly de-
picts the relationship between these two statements.

Mark answer 1): if statement (A) is the cause and state-

ment (B) is its effect.

Mark answer 2): if statement (B) is the cause and state-

ment (A) is its effect.

Mark answer 3): if both the statements (A) and (B) are

independent causes.

Mark answer 4): if both the statements (A) and (B) are

effects of independent causes.

Mark answer 5): if both the statements (A) and (B) are

effects of some common cause.

41. (A) State Government has ordered immediate ban on air-

ing of certain movie channels on television.

(B) A few social activists have come together and de-
manded ban on telecasting ‘Adult’ movies on tele-

. vision.
42 (A) Employment scenario in the country has remarkably

improved recently.

(B) The number of prospective job-seekers going abroad
has increased recently.

43. (A) Government has tightened security checks at all im-

portant places and also at various public places.
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(B) Incidences of terrorist attacks are increasing day by

day. _

44. (A) The High Court has fixed a time limit for repairing all

the roads in the city.

(B) Road Development Authorities in the city are carry-

ing out road repair work on urgent basis.

45. (A) There is an outbreak of several epidemics in the coun-

try.

(B) It was a worst flood situation ever experienced in the

past in most parts of the country.

Directions (Q. 46-50): In making decisions about im-
portant questions, it is desirable to be able to distinguish
between ‘strong’ arguments and ‘weak’ arguments, ‘Strong’
arguments are those which are both important and directly
related to the question. ‘Weak’ arguments are those which
are of minor importance and also may not be directly related
to the question or may be related to a trivial aspect of the
question. :

Each question below is followed by two arguments num-
bered I and II. You have to decide which of the argumentis a
‘strong’ argument and which is a ‘weak’ argument.

Give answer (1) if only argument [ is strong.

Give answer (2) if only argument I is strong.

Give answer (3) if either [ or Il is strong.

Give answer (4) ifneither I nor I1 is strong.

Give answer (5) if both  and II are strong.

46. Statement: Should the teenagers be denied access to
the Internet? '

Arguments: :

L Yes, most of the children, particularly the teenagers;
are found indulging in accessing pornographic ¢on-
tents. . ) '

IL No, denying access to the Internet would fnean de-
nying access to a lot of useful information; instead
the access may be controlled.

47. Statement: Should computer education be made a com-
pulsory subject at school level by, the\Government?
Arguments; ) -

L No, it may be difficult to teach computers in the
schools located in rural-parts of the country.

IL Yes, it is difficult to function without computer in the
era of modernisation. ’

43. Statement: Should hand baggage on all international
flights be permanently banned?

Arguments: .

L No, it causes a lot of inconvenience since items of
minimum requirement need to be carried during long-
haul flights.

IL Yes, it is necessary to ensure security of passengers
on board.

49. Statement: Should all the universities in the country

switch over to grade system rather than awarding marks?
Arguments:
L Yes, with this the students falling in a particular range
of marks can be treated on par. .
IL No, it will be difficult to rank the students when re-
quired to be short-listed. :
50. Statement: Should there be a complete ban on telecast
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of Adult movies on television?

Arguments:

L Yes, such movies adversely affect the children and

their interests are to be given top priority.

II. No, instead they can be telecast at certain fixed time

when children are generally away from home.

Directions (Q. 51-55): Study the following information
carefully and answer the given questions:

A word and number arrangement machine when given
an input line of words and numbers rearranges them follow-
ing a particular rule in each step. The following is an illustra-
tion of input and rearrangement.

Input: say dry 42 96 get 39 kite 67

Step I: 96 say dry 42 get 39 kite 67

Step II: 96 dry say 42 get 39 kite 67

Step I11: 96 dry 39 say 42 getkite 67

Step IV: 96 dry 39 say\67 42 get kite

Step V: 96 dry 39 say-67 get 42 kite

Arrangement in Step V is the final arrangement and

Step V is the last step.

You have toanswer the questions by following the same

rules as illustrated above.

51. Which step will be the last step of an input for which
thifd'step is “91 go 28 mock pet 43 lead 379
1)Eighth 2) Seventh 3) Sixth
4) Fifth 5) None of these

52, “Ifthe second step of an input is “52 at deep follow 41 16

- ) road 32”, what will be the fifth step?

1)52 at 16 road 32 deep follow 41

2)52at 16 road 41 deep fo’ B

3) 52 at 16 road 32 follow

4) There will be no suchs

5) None of these
53. If the third step of an input is “65 daily 12 tie 42 23

foreign urgent” what will be definitely the input?

1) foreign 65 tie urgent 12 42 23 daily

2) foreign 65 urgent tie 42 daily 23 12

3) foreign 65 12 urgent tie 42 daily 23

4) Cannot be determined

5) None of these -

54. Ifthe second step of an input is “76 from 48 super itself
56 18 went”, how many more steps will be required to
complete the arrangement?

1) Five 2) Six

4) Three 5) None of these
35. What will be the third step if the input is “thirty days

from now 32 56 87247

1) 87 thirty days from now 325624

2) 87 days thirty from now 32 56 24

3) 87 days 24 thirty from now 32 56

4) 87 thirty 24 days 32 from now 56

5) None of these ; .

Directions (Q. 56-60): In each question below is given a
statement followed by two courses of action numbered I and
IL A course of action is a step or administrative decision to
be taken for improvement, follow-up or further action in
regard to the problem, policy, etc. On the basis of the infor-
mation given in the statement, you have to assume every-

3) Four
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thing in the statement to be true, then decide which of the
suggested courses of action logically follow(s) for pursu-

ing.

56.

57.

58.

61.

62.

63.

65.

Give answer 1): if only I follows.

Give answer 2): if only Il follows.

Give answer 3): ifeither L or II follows.

Give answer 4): if neither I nor 11 follows.

Give answer 5): if both  and I follow

Statement: All resident doctors in Government Hospi-

tals have gone on mass casual leave in protest against

the Govt’s new reservation policy.

Courses of action: '

1. The Government should call a meeting of the repre-
sentatives of the resident doctors and request them
to resume their duties.

Il The Government should order strict action against ™
striking doctors if they do not resume duties immedi-

ately.
Statement: Air pollution level in the city is observed to
be rising up day by day.
Courses of action: :
L City development authorities should offer incentive
for those who are sharing a private vehicle.
IL City development authorities should impose heavy
taxes on use of individual private vehicle.
Statements: Many students are unable to cope up with
the pressure of examinations and results and commit
suicide.

65

Courses of action:

L Education department should consider reforms in ex-
amination system.

Il Examining authorities should partially do away with
written examinations and instead give weightage to
test the practical knowledge through other modes of
assessment.

. Statement: Cases of robbery while travelling in public

transport have increased substantially i, the recent past.

Courses of action:

1 Adequate number of security guards should be de-
ployed in all public transport vehicles immediately.

IL People should be advised to refrain from carrying
highly valuable articles while travelling by public trans-
port system. -

. Statement: There is an overall outbreak of epidemics of

water-borne diseases in the state as an after-effect of

recent floods. :

Courses of action:

L The civic authorities should advise the people to use
water purifiers before using drinking water and also
advise‘them to maintain gverall cleanliness in the lo-
cality/

IL_The civic authorities should instruct the water sup-
ply department to add extra purifying elements to the
water tanks before supplying water to the public.

Directions (Q. 61-75): In each of the questions given below which one of the five answer figures on the right should come
after the problem figures on the left, if the sequence were.continued?

A (A4 VAL PAVVVYVA (WYY [VVVV VY VAN YYAR YYY
4 4 |v4 [Av N4 \4
' | 2 3 4 s
5 > As e IS ZIIN 7 %
| 2 3 4 s
< | —%
W Rl T [BlEIEIR]E
1 2 3 4 5
i IO N IR O T T O B e O O I A O
| > 3 4 5
A a B ry T G l U z
Y 2 gv gwA ;9:601: OZéQZSQ:
1 2 3 4 )
GHEE | | e | | e ﬁ % el R
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Quantitative Aptitude

Directions (Q. 76-85): What should come in place of
the question mark (?) in the following questions?

76. (35614-26889)+25=9

1)317 2)356 3)363
4)349 5) None of these

71. 254x?x8=95504
151 2)49 3)47
4)53 . -5)None of these

78. [(125) +50%20]+25=9
1) 150 2)250 3)100
4115 5) None of these

7. [J’ 250047 +(56)2] +7 =9
1)547 2)475 3)455
4)521 3) None of these

8I.

83.

8. [(W529 36)+48]x 2 = 5847.75

1)346 2)317 3)339
4)325 5) None of these

(16% of 480) + (? % of 978)=653.82

1)48 2)57 3)61
4)63 5) None of these

(0.56% of 225) x (3.25% of 430)=12
1)17.6085 2)15.3195 3) 156175
4)15.6175 5) None of these

(77% of 356) + (69% of 729)="7

N777.13 2)669.15 3)749.15
4)690.13 5) None of these

3 .13 2

—x]—=Z =

7 15 5
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8s.

88.

91.

93.

9s.

1 1
1) 5 2)2 3) 5 4)1 5) None of these
leo +@n2]+ 2= 9.0625
D121 2)144 3)169
4)81 5) None of these

Directions (Q. 86-90): What should come in place of

the question mark (?) in the following number series?
86. ’

15 18 16 19 17 20 2

1)23 2)22 ‘ 3)16
4)18 5) None of these ;
1050 420 168 67.2 26.88 10.752 ?
1)4.3008 2)6.5038 3)4.4015
4)5.6002 - 5) None of these

06 24 60 120 210 7

1)343 . 2)280 3)335
4)295 5) None of these

32 49.83 151 287 559 ? o
11118 2)979 3)1103 -
4) 1120 5) None of these

462 552 650 756 870 992 7.

1) 1040 21122 3)1132
4)1050 5) None of these

A sum of Rs 731 is divided among A, B and C, such that
‘A’receives 25% more than ‘B’ and ‘B’ receives 25% less
than ‘C’. What is C’s share in the amount? '

I)Rs 172 2)Rs 200 3)Rs 262

4)Rs 258 5) None of these

In how many different ways can the letters ofthe-word
‘PRAISE’ be arranged?

1)720 2)610

4)210 5) None of these
Ifthe numerator of a fraction is increased by 150% and
the denominator of the fraction-is increased by 300%,

3)360

: 5 : -
the resultant fraction is ~.\ What is the original frac-

18
tion?
1 i 2 i 3 ‘8°
) 9 ) 5 ) 9
8
4) m 5) None of these

A car covers the first 30 km of its journey in 45 minutes
and the remaining 25 km in 35 minutes. What is the aver-
age speed of the car?

1) 40 kmvhr 2) 64 km/hr

4)48 km/hr 5) None of these
Four examiners can examine a certain number of answer
papers in 10 days by working for 5 hours a day. For how
many hours a day would 2 examiners have to work in
order to examine twice the number of answer papers in

3) 49 kmv/hr

67
20 days?

1
1) 8 hours 2) 7—2— hours 3) 10 hours

e
4) 85 hours 5) None of these

Directions (96-100): Study the following table carefully

and answer the questions given below.

Number of working days of various companies

over the years
Companies —»| A B C D E
Years |
2000 298 296 322 323 | 301
2001 310 300 323 |-322 | 298
2002 310 31 312 310 | 308
2003 31 310 | 311 | 312 | 310
2004 299 309 | 311 325 | 322
2005 298 310 310 313 | 321

98.

What is the average number of working days of the vari-
ous given companies in the year 2001?

4

312 2)312% 3312

4)'310i
5

5) None of these

Which company has the maximum number of working

days over the years?

B 2)A 3)D 4)C

Which of the following statements is true?

1) Company E has the maximum number of working days
inthe year 2004 as compared to the other companies.

2) Theaverage number of working days of Company B
over the given years is 306. .

3) The ratio of the non-working days of Company A to
the non-working days of Company E in the year 2002
is55:58.

4) The difference between the number of working days
of Company B and that of Company D in the year
2004 is 18.

5) The ratio of the number of working days of Company
A to the number of working days of Company C in
the year 2002 is 77 : 78. '

What is the approximate difference between the aver-

age number of working days of Company C and the av-

erage number of working days of Company E?

DS 2)10 3)8 412 5)2

5)E

100. What is the ratio of the non-working days of Company
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B to that of Company E in the year 20057
D4:5 2)5:7 3)7:5 4)55:57 5) None of these
Directions (Q. 101-105): Study the following Pie Graph
carefully and answer the questions given below.
Cost estimated by a family in renovation of its house
Total cost estimated Rs 1, 20, 000

. » Grills &
Architect's Windows

fees - 10%
11% g —

Curtains &
Cushions
. 10%.

Interior
Decoration ~
19% :
Miscellaneous
8%

Painting ! . Flociring Furniture
15% 14% i3% )

- The family gets a discount on Furniture and pays 12%
less than the estimated cost on Furniture. What is the
amount spent on furniture?

)Rs 13,200 . 2)Rs 14,526
4)Rs 13,728 5) None of these

102. What is the cost estimated by the family on Painting and

Flooring together?
1)Rs 36,500 2)Rs 34,800
4)Rs 34,500 5) None of these
103. What is the difference in the amount estimated by the
family on Interior Decoration and Architect’s. Fees?
1)Rs 10,000 2)Rs 9,500 3)Rs7,200
4)Rs 9,000 5) None of these :

104. Other than getting the discount of 12% on the estimated

10

—_—

3)Rs 13,526

3)Rs 36,000

cost of Furniture and the actual Miscellaneous expendi- .

ture of Rs 10,200 instead of thé:estimated, the family’s
estimated cost is correct. What is the total expenditure
of the family in renovation'of its house?
Rs1,16,728  2)Rs1,15,926 3)Rs 1,19,500
4)Rs 1,16,500 5) None of these
105. During the process of renovation the family actually in-
curs Miscellaneous expenditure of Rs 10,200. The Mis-
cellaneous expenditure incurred by the family is what
percent of the total estimated cost?
1)9.5 2)9 3)85 4)10.5 5)None of these
. Directions (Q. 106-110): What approximate value should
come in place of the question mark (?) in the following ques-
tions? (You are not expected to calculate the exact value)
106. (8423 +3120+6543)+ (1536 +377 + 189)=2
)5 2) 14 3)9 4)18 5)3
107. (13% of 7439) x (3.23% of 537) =2
1)16243 2)16135 3)16674 4)16824 5)16774

7.3 .4,
108. 121+ | 57 g "5 |~
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1)168  2)288 3)208 4)298  5)198
109. (96)* +3/78961=2
D215 2)210  3)220  4)224 5)None of these

110. (1528 x3.56)+3.15="
D12 2)9 3)21 417  5)24
Directions (Q. 111-115): Study the following table care-
fully and answer the questions given below.
Number of workers working in the given six shifts of
various factories (Number in Thousands)

F: “;:;zzs{’ L M N 0 P

7AM-1IIAM | 75 | 80 78 | 759 | 832
HAM3PM | 638 | 70 | 716 | 635 | 79
3PMIPM | 65 | 728 | 635 | 615 | 724
TPM-1IPM | 78 (525 | 60 60 | 65
1PM-3AM | ss~J\50 | st0 | 55 | 37
3aM-7aM | a2 30 | 412 | 35 | 215

111. The total number of workers from Factory O is approxi-
mately whatper cent of the total number of workers from
Factory L?

1) 89 2) 80 3)96 4)78 5)93

112. What is the average number of workers working in vari-
ous shifts in Factory P?

136045  2)6200  3)6235  4)6150 5)None of these

113. What is the difference in the total number of workers
working in various shifts in Factory M and the total
number of workers working in various shifts in Factory
0?

1)290  2)275 3)295 4)270 5)None of these

114. What is the ratio of the total number of workers from
factories L and M working in the shift of 1 1 PM to 3 AM
and the total number of workers working in the same
shift in factories O and P?
1)I3:14 2)15:16 3)13:15 4)15:17 5)Noneofthese

115. What is the total of the average number of workers
working in the shift of 7 AMto 1 1 AM inall the factories
and the average number of workers working in the shift
of 7PMto 11 PM in all the factories?

1)11,502 2)15,142 3)14.520
4) 14,152 5) None of these

3 2 2
116. The difference between 3 of 3 of a number and 5 of

1
Z of the same number is 288. What is the number?

1)960 2)850 3)895 4)955  5) None of these
117. A, B, C and D are four consecutive odd numbers and
their average is 42. What is the product of B and D?

1)1860 2)1890 3) 1845 4)1677 5)None of these
. 2

118. What is 25% of 30% of 5 0f2000?
136  2)40 3)S6 4)60 5) None of these
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119. The sum of five numbers is 260. The average of the first
two numbers is 30 and average of the last two numbers
is 70. What is the third number?

1)33 2)60 3)75
4) Cannot be determined 5) None of these

120. 20 boys and 32 girls form a group for social work. During
their membership drive same number of boys and girls
joined the group. How many members does the group
have now, if the ratio of boys to girls is 3 : 4 respec-
tively?

)75 2)86 3)68 4)82 5) None of these
Directions (Q. 121-125): Study the following graph
carefully and answer the questions given below:

Following graph shows total number of students appearing

and qualifying from various schools at scholarship exam

3500 , | EAppeared g Qualified |
3000
2500 |
£ 2000 7
& 1500
5 1000 %
E ﬁ%
s 500 /
7 /
.

0

.Schools

121. The average number of students qualifying at the exami-
nation from schools C and D is what {er cent of the
average number of students appearing.for the examina-
tion from the same school? (Rounded-off to two digits
after decimal)

1)58.62 2)73.91 3)62.58 4)58.96 5) None of these

122. What is the ratio of the number of students appearing to
the number of students qualifying at the scholarship
exam from School C?

1)7:12 2)6:5 3)9:13 4)9:10 5) None of these

123. What is the ratio of the number of students qualifying at
the scholarship examination from school A to the num-
ber of students qualifying at the examination from school
B?

1)8:3 2)5:7 3)7:3

124. The number of students appearing for the scholarship

exam from School D is approximately what per cent of

the total number of students appearing for the exam from
all ihe schools together?

D12 2)24 3)29  4)18 . 5)8

125. What is the difference between the average number of

students appearing at the scholarship exam from all the
given schools and the average number of students quali-
fying from all the given schools?

1)950 2)1100 3)990 4)1020 - 5)None of these
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Test I11: General Awareness

4)9:5 5)Noneofthese -

126. Govt of India recently decided to import wheat at a lower
rate of custom duty. The effective rate of the duty would
be
1) 15% 2) 12% 3) 10% 4) 5% 5) None ofthese

127. As per the reports published recently in the newspa-
pers, banks surpassed the target set for farm credit in
2005-06. How much more credit was given to this sector
in terms of percentage?

1) 15% 2)20% 3)26% 4)33% 5)43%

128. The Government of India recently extended the deadline
for telecom companies to comply with the new FDI norms
by another three months. Which is the new deadline?
1) 2nd October, 2006 2) 30th October, 2006
3) 15thNovember,2006  4) 30th November, 2006
5) None of these -~ -

129. As per the reportsspublished in the newspapers, the
National Housinig.Bank (NHB) is planning to launch a
Reverse Mortgage scheme specially to help which of
the following sections of society?

1) Peopleinrural India  2) Senior citizens
3) Péople’living in Govt accommodations

4) Women who are sole breadwinners

5) None of these

130, Which of the following companies has got two con-
tracts to establish two power projects in Afghanistan ?
1) Bharat Heavy Electricals (BHEL)

2) National Hydroelectric Power Corporation (NHPC)
3) National Thermal Power Corporation (NTPC)

4) Reliance Energy Ltd

5) None of these

131. The final match of the Uber Cup badminton 2006 was
played between China and
1) Japan 2) Denmark  3)Italy
4) The Netherlands 5) None of these

132. Which of the following organisations/agencies recently
prepared a charter of the Banking Codes and Services ?
(All banks are required to sign the same).

1) Indian Bank Association (IBA)
2) Indian Institute of Banking & Finance (IIBF)
3) All India Bank Employees' Union
4) Reserve Bank of India (RBI)
5) None of these
133. A four-day Ministerial level meeting of G-20 and G-33
. countries was held in June 2006 in
1) Hong Kong  2) Beijing
4) Jakarta 5) Geneva

134. Why was the name of SY Quereshi recently in news?

1) He is the new Election Commissioner of India.

2) He is the new Foreign Secretary, Govt of India.

3) He will be our new Permanent Representatlve in the
UNO.

4) He is India’s new Permanent Representatlve in the
‘World Trade Organisation.

5) None.of these

3) New Delhi
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135. Govt of India recently introduced sortie measures/in-
centives to improve tourism in India. Which of the fol-
lowing is one of these measures?

1) Issuance of electronic visa

2) Free stay for three days in Govt hotels in four metros
for business travellers and frequent flyers

3) Highly subsidised air travel on metro routes for fre-
quent flyers

4) Free trip to Agra, Delhiand J aipur to those coming on
cducational/study tours

5) None of these :

136. Women in which of the following OPEC countries par-
ticipated in elections for the first time? (Elections were
held recently) :

1) UAE 2) Kuwait
4), Saudi Arabia 5) None of these

137. Which of the following agencies recently laid down
guidelines for foreign companies who wish to raise money
from the Indian capital markets?

1) RBI 2) IRDA  3)Registrar of Companies
4)SEBI 5). None of these

138. The Government of India recently advised which of the
following to have uniform accounting standards and also
to amortize premium on theijr investment without faj]?
1) Provident Fund Companies
2) Mutual Fund Operators
3) Co-operative Banks
4) Insurance Companies
5) None of these o

139. SEBI recently decided to give an exemption to some cofm:
panies from the requirement of the minimum 25 percent
public shareholding. Companies exempted from such
requirement should fulfil which of the following norms?
(A) They should have market capitalisation-of Rs 1,000

crore.
(B) They should have 20 million shares listed.
(©) They should have a turnover of\Rs 400 crore per
annum. - _ ’
D Only(A) 2) Only (B)
4) (A)& (C)both 5) (A) & (B)both

140. Which of the following organisations/agencies has
agreed to setup an “Institute in India to Train Manpower
in Commodities®?

1) World Bank - 2) Asian Development Bank
3) International Monetary Fund '

4) New York Stock Exchange

5) None of these ‘ ' '

141. More and more banks in India these days are setting up
their ATMs and discourage’people to visit their branches
for transaction. Which of the following is/are the

3) Iran

3) Only (C)

limitation(s) of the ATMs which force people to go to.

branch for transactions? -
(A) Lack of human interface
‘ (B) Communication gap
 (O) Limited cash dispensing ability L
Doy nony@) 3oy
4) (A) & (B)both 5) A), B &(©Cyall B
142. How much amount can the Postal Department invest in

143. The Non-Profit Companies which were unlisted but have

144. Which of the following countries won World team table

145. The Government of fndia recently cleared Rs 1,00,000

146. Which of the following is NOT one of the core areas -

147. The World Sports Award ceremony was held recently in

148. All day-to-day functions of the Panchayat in which of

149. Marion Jones is a well-known

150. Who amongst the following is the author of the book

151. Why was Vijay Nambiar’s name recently in the news?

1) e hastaken over as the new Cabinet Secretary, Gout
T2y He ’v‘ml’bé‘og'u’rtjpermaﬁeh;‘rgpfe‘s‘ema’ﬁye in the UNO.

_.-3) He has taken over as the Uhderseéfctary-(jeljeral in .
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révenue-generating instruments and/or stock market to
reduce its budgetary deficit 2 (amount is from its insur.
ance schemes) v

1)Rs 1,400 ¢crore 2)Rs 2,500 crore 3) Rs 4,500 crore
4)Rs 7,400 crore 5) Rs 10,000 crore

accessed Foreign Currency were asked to getthemselves -
listed within three months or latest by March 3 | » 2006.
This rule is now relaxed and such companies can get
listed in a period of :

1) 1year
4) 5 years

2) 2 years
5)10 years

3) 3 years

tennis championship 2006 for men and women both?
. 1) Japan 2) China 3) Hong Kong
4) Germany 5) USA

crore of investment.in Special Economic Zones (SEZs).

The investment” will be helpful in many way. Which of .

the following is/are among such benefits?

(A) About40,000 hectares of the land wij Il be converted
‘into,SEZs. '

(B) .About 5,00,000 people will get various types of jobs
in‘those units; o -

(©). Export of agro products would get an enormous
‘boost as all such SEZ units are to be established for
agro exports only. - ‘

)A and B both 2) Only A

4)OnlyCc. 5) A,B and Call

3)OnlyB

identified under the Bharat Nirman Programme?
1) Irrigation 2) Rural electrification

3) Drinking water supply

4) Rural Housing

5) Computer education in Schools

1) Spain
4) Germany

2)Italy - 3) France
5) Canada '
the following states are being operated on electronic
‘System and are web-based? (This is being done for the
first time in India for a panchayat)
1)Kerala 2) Karnataka 3) Andhra Pradesh
4) Maharashtra 5) None of these
" 1) Badminton player 2) Tennis player 3)Golfer
4) Athlete 5) None of these

The City of Joy? :

1) Dominique Lapierre - 2) Guenter Grass
3) Daniel Steele 4) Graham Greene
5) None of these

" oflndia” -

“'the UNO.

|
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4) He is new Foreign Secretary, Govt of India.

5) None of these
152. Which of the following cups/trophies is associated with
the game of volleyball?
1) Indian Cup 2) Ramanujam Trophy
3) Lincoln Trophy 4) Dhyanchand Trophy
5) Him Gold Cup :

153. The Basel II Accord for Banking Industry is based on
three pillars. Which of the following is/are NOT included
in the same?

(A) Minimum Capital Requirement
(B) Supervisory Review

(C) Market Discipline

(D) Credit Risk

1)Only A 2)BothAandC
4)Only A, B and C 5) None of these

154. Alan Garcia, whose name was recently in the news, is
the
1) Prime minister of Peru  2) President of Peru
3) Prime minister of Italy . 4) President of Italy
5) None of these

155. In which of the following states one village in each block
is being developed as a model village?

1) Jammu & Kashmir 2) Himachal Pradesh
3) Karnataka 4) Tamil Nadu
5) None of these

156. 'Sheqel' is the currency of
1) Israel 2) Kenya
4)Iran 5) None of these

157. Which of the following is True about Prime Mlmster ]
Rozgar Yojana (PMRY)?

(A) Youth of the age of 18-45 years are eligible for taking
loan under the scheme.

(B) Loans are possible only for non-agricultural activi-
ties in rural/semi-urban areas. .

(C) In the 10th plan about 16.5 lakh persons are llkely to
get employment under this scheme.

3)OnlyD

3)Iraq

1) Only A 2)OnlyB 3)BothA & C
4)Only C 5)AllA,ByandC
158. Which of the following terms is NOT related with the
game of hockey? -
1) Soda line 2) Tie-breaker ~ 3) Hat-trick
__4)Half-Volley )Follow-on

159. Indian exports recorded an increase in May 2006. What
was the increase in terms of percentage?
NI15%  2)20% 3)25% 4)30% 5)35%
160. Which of the following countries has the largest stock
of foreign exchange reserves in the world?
1)USA 2) China 3) Japan
4) India 5) None of these
161. The 9th National e-Governance Conference was recently
organised in

1)New Dethi 2) Jaipur 3) Mumbai
4) Bangalore 5) Kochi _

- 162. FIFA World Cup 2010 will be organised in. :
1) Italy 2)Brazil ... ..3)South Afrlca
4) Britain 5) None of these ; :

163. As per the reports published in the newspapers, which
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of the following countries. is first in the production of
gold jewellery?
1) China 2) India
4) Italy 5) None of these
164. Mr Ramkrishna Suryabhanji Gavai has recently taken
over as the Governor of -
1) West Bengal  2) Madhya Pradesh  3) Punjab
4) Bihar 5) None of these
165. Who amongst the following was adjudged best actress
in the 7th [TFA Award ceremony held in Dubai?
1) Lara Dutta 2) Priyanka Chopra 3)Kajol
4) Rani Mukherjee 5)None of these
166. Who amongst the following is the first Chairman of the
newly constituted National Statistical Commission?
1) Prof Suresh D Tendulkar 2) Dr Ashok Labhiri
3) Dr Rakesh Mohan - 4) Prof SK Ghosh
5) None of these
167. Mr Percy Sonn, who.is the newly appointed President
of the International. Cricket Council (ICC), is from which
of the following-countries?
1) South Africa..2) Britain
4) Australia 5) None of these
168. Madhya-Pradesh and Rajasthan states are planning to
link which of the following two rivers?

3) Turkey

3) New Zealand

1)Chambal-Betwa 2) Narmada-Chambal
3) Narmada-Kali Sindh 4) Chambal-Kali Sindh
5) None of these

169. Which of the following countries recently test-fired a
series of missiles?
1) Russia 2) South Korea
4) France 5) None of these
170. Who amongst the following is the author of the book
 Bearders — My Life in Cricket?
1) Shane Warne 2)Bill Frindall
4) ImranKhan 5) Noné of these _
171. India along with which of the following countries is
planning to launch Chandrayaan 1?

3) North Korea

3)Brian Lara -

1) Russia 2) France 3)USA
4) China 5) None of these
172. The Fifth D-8 Summit of Developing Nations was orga-
nized recently in
1) Indonesia 2) India 3) Brazil
4) Malaysia 5) None of these

173. India recently signed an MoU on Military Ties w1th which
of the following countries?
UK 2)USA
4) Italy 5) Russia

174. Which of the following countries is NOT one of the four
former Soviet States who have jointly formed a forum
“Organisation for Democracy and Economic Develop-
ment GUAM™?

1) Georgia 2) Ukraine
4) Azerbaijan 5) Moldova
175. Which of the following countries has awarded congres-
- sional Gold Medal to Dalai L.ama, Tenzin Gyatso? -
1) Britain - - 2) France- - 3)Italy
~4)yUSA 5) None of those -

3) China

3) Croatia
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TestIV: English Lariguage

Directions (Q. 176-185): Read the following passage
carefully and answer the questions given below it. Certain
words/phrases have been printed in bold to help you locate
them while answering some of the questions,

Right of entry to education, an ample teaching-learning
environment, a suitable curriculum and an empowered and
all-encompassing faculty are four essential prerequisites of
an education system  that seeks to enable social transforma-
tion. While educational reform since the 1980s was strongly
focused on the first two elements, the late 1990s brought the
role of the curriculum into national focus. The critical link
that binds these four critical elements together — the activ-
ity of the faculty — continues to be cast aside, by political
ideologies of most hues, contemporary curriculum reform
efforts and the professional practices of the faculty. -

Far-reaching educational initiatives of both the Left and
the Right have recognised the potential power of the faculty.
In multiple experiments, they have used this dormant force to
build committed institutions and cadres of faculties dedi-
cated to their particular causes. In many instances this has
led to extreme politicisation of the col lege faculty. Ini others it
has led to the education of a generation of students ‘in half-
truths underpinned by the personal beliefs, sectarian con-
cerns and folk pedagogy of faculties who have had little
access themselves to education and training in related areas.

Over the last decade or s0, educational reform has ins
cluded, apart from access, a focus on developing alternative
text materials and the training of facuity to handle these ma-
terials, without directly engaging with the issue of'curficu-
lum revamp. At the turn of the 20th century, a majernational
curriculum redesign was initiated following the-change of
political regime at the centre. The subsequent development
of college programme came under wide public scrutiny and
debate. Issues of equity, inclusion arid exclusion; learner
medley religious identity and communalism gained consider-
able importance in the curriculum debates that followed. For
instance, scholars argued that &,\the curriculum, while loud
on rhetoric, fails to address “the quality of education that
students of underprivileged and marginalised groups experi-
ence.” Several other critics described the revised curriculum
as a retrogressive step in education that sought to impose
the religious agenda in the garb of a national identity.

The subsequent change of nationaj government in 2004
led to the curriculum review in 2005, underlining a new politi-
cal interest in the role of education in national development,
its role in social mobilisation and transformation directed spe-
cifically at questions of caste and gender asymmetry and
minority empowerment, Deeper than these politically driven
initiatives, however, the professional need for curriculum re-
view emerges from the long ossification of a national educa-
tion system that continues to view faculty as “dispensers of
information” and students as “'passive:recipients” of an*“edu-
cation” sought to be “delivered” in' four-walled classtooms
with little scope to develop critical thinking and-understand-
ing.
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176. Which of the following best describes the phrase “pas-
- sive recipients” as used in the passage? :
1) The users of the educational system
2) The political ideology of right and left parties
3) Well-framed eurriculum guiding the teaching/learn-
ing process
4) Free access to education system
5) The faculty :
177. To facilitate social transformation, which of the follow-
ing has been identified by the author as one of the fac-
tors?
1) A committed political ideology
2) Support of the well-framed curriculum
3) A strong administration system
4) Carefully planned education delivery
5) None of these
178. Prior to 1990 what was NOT on the agenda ofthe educa-
tional reforms?
(A) An appropriate curriculum
(B) Well-mahaged admission process
1) Only A 2)Only B 3)Both A and B
4)Either A-or B 5) None of these ’
179. Which'of the foHowing is the most opposite in meaning
ofithe word medley as used in the passage?
1)jamalgamate  2) united 3) unity
4) diffuse 5) focusing )
180:\Which of the following best describes the word ossifi-
cation as used in the passage?
1) hardening 2) plasticity
4) incorporation 5) coalescing
181. Revamping of the text material was the main focus in
1) early eighties  2) late nineties 3) 21st century
4) evolving curriculum framework 5) training faculty
182. Which of the following best describes the meaning of
the word underpinned as used in the passage?
1) advocated 2) supported 3) prepared
4) bolstered - S) boosted
183. What hampers the critical thinking ability of college-
going students? ’
1) The emphasis on rote memorisation and recalling the
facts of education based on real experience
2) Lack of political will to develop these abilities
- 3) Absence of focus while designing curriculum frame-
work
4) Ignoring the active role of faculty and the student
5) Lack of proper tests of critical thinking ability
'184. How did personal beliefs and folk pedagogy enter into
educational system?
1) The college acted as an agent of local communities.
2) The faculties were not properly trained.
3) College faculties started acting as passive listeners.
4) The loopholes in the educational system allowed it to .
happen. :
5) It was by design. 7 - o
185. Development of textbooks generated public‘debate on

3) imbibition

many issues except , , ‘
‘(A) making the curricufum student-centred.

" (B) using teaching ‘commiunity as an'agency to bring




Andhra Bank PO-2006

change.

1) Only A 2)Only B
4)Either Aor B 5) None of these
Directions (Q. 186-192): Read each sentence to find

out whether there is any grammatical error or idiomatic

error in it. The errov, if any, will be in one part of the sen-

tence. The number-of that part is the answer. If there is no

error, the answer is (5). (Ignore errors of punctuation, if

any.)

186. 1) They have invited /2) Sushma and 1 /3) for the meeting
to be /4) held in the next month. /5) No error

187. 1) The city people stayed /2) fearlessly despite of /3)
rumour of terrorist attack /4) in the area. /5) No error

188. 1) The Director asked me /2) how I have not/3) taken his
permission /4) before applying for the new job. /5) No
error

189. 1) Buy presents for ladies /2) in their absence /3) is a
very /4) difficulttask. /S) No error

190. 1) A disaster management cell is opened /2) by the state
government /3) before the rainy season /4) as a precau-
tionary measure. /5) No error

191. 1) This college has /2) a glorious tradition /3) that attract
/4y good students to the college. /5) No error

3)Both Aand B

192. 1) Manasi is too busy /2) in her current /3) programmes -

to take /4) up any new ones. /5) No error

Directions (Q. 193-199): In each of the following ques-
tions four words are given of which two words are most nearly
the same or opposite in meaning. Find the two words which
are most nearly the same or opposite in meaning and indi-

* cate the number of the correct letter combination by dark-

ening the appropriate oval in your answersheet.

~193. (A) census (B) censure {C) reprimand (D)aiinjiverse .

1) A-B 2)A-D 3N A-C 4)B-C\_S5)C-D
194. (A) reason (B)discernible (C) valid (D)perceptible
1)A-D 2)B-C 3)A-C HEC-D * 5)B-D
195. (A) critical  (B) space .. (C) concourse (D) courtyard..
A-D - .2)B-D 3)CD 4)B-C  5)A-B .
196.(A) mmgatnon (B)risking (C) apprecnatlon (D)al levxatlon'
DC-A" -2YCD- -3)A-D~4)A-B° SyB-D~ %
- 197. (A) reiteration (B) honourmg
(C) reverberation (D) hollow
1)A-C 2)B-C 3)C-D 2 -4yA-B - 5)B-D ..
198. (A) refurbish (B)furnish  (C)innovate - (D)renovate .-
] 1)C-A 2)C-D 3)C-B 7 4B-A - 5HAD
| - 199.(A)articulate (B) decipher (C) senseless (D) decode
’ HC-B  2)A-D 3)B-A  4)D-C 5 D-B

Directions (Q. 200-210): Which of the phrases (1), (2),
" (3) and (4) given below each sentence should replace the
phrase printed in bold type to make the sentence grammati-
cally correct? If the sentence is correct as it is, mark (5) i.e.
‘No correction required’ as the answer.
200. Lift the handset only after pald a one rupee coin.
1) paying a one- rupee coin 2} you pay one rupee <oin
3) pay one rupge-coin 4) you paid one rupee coin
5) No correction required

| 201. Good life; according to many people; is to making more -

and more mongy.

 1)ismaking . .. 2)15made ‘i.,.:il.)_aremade:_ ,

PRI

. 208.

210,
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4) are making 5) No correction required
202. His behav1our with all his employees is so pleasmg that
everyone come forward for helping him.
1) came towards him for help
2) comes towards him for help
3) comes forward to help him
4) comes forward for help him
5) No correction required
203. A master should never impose his servants too much
work.
1) his servants with too much work
2) too much work with his servants
3) too much work on his servants
4) too much work for his servants
5)No correction required

204. What matter does most is the quality and not the quan-
tity.
1) What does matter 2) What does it matter
3) That matters 4) What matters

5) No correction required
The police commissioner burst into rage and ordered
immediately suspension of the inspector who had ar-
rested the innocent boy.
1) otder immediately
3) ordered immediate
5) No correction required
He would be like to have some ice-cream.
1) would like to 2) would be liked to
3)was to be likingto - 4) would being liked to
5)No correction required
207 Not knowing the language and had no friends in the
country, he found it impossible to get a JOb
1) has no ' 2) with having
- 3) with having not 4) having no
5) No correction required
She will not attend the meeting until she is asked to.
" 1)except - 2) even with.
3) even éxcept: ) unless '
" 5)No correction required - e
209. Because of his smart work, he is in the best books ofhis
employer
1):in the better books
3).in the good books
"'5)No correction required
With the introduction of the.new system, the number of
candidates who resort to unfair means is decreasing
year after year.
1) resortingto  2) to resort to 3) resorted to
4)toresorting  5) No correction required
Directions (Q. 211-225): In the following passage there
are blanks, each of which has been numbered. These num-
bers are again printed below the passage and against each,
five words are suggested, one of which fits the blank appro-
priately. Find out the appropriate word in each case.
Though I had hired cabins in Bandra and a house in
Andheri, divinity would net let mie settle down. 211 had [
moved into my new house when my brother Balmukund, who

20s.

2) order immediate
4) ordering immediate

206.

2) in the good book
4) into the good books

had already been through an 212 attack of jaundice some -
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years back, had a 213 attack of typhoid, 214 with pneumonia
and signs of restlessness at night. The doctor was 215in. He
said medicine would have 216 effect, but eggs and chicken
both might be given. Balmukund was only five years old. To
confer with his wishes was out of the question. Being his
217 I 'had to 218. The doctor was very good. I told him that
we were all vegetarians and that I could not possibly give
either of the two things to my brother. Would he therefore
219 something else? ‘Your brother’s life is in danger,’ said
the 220 doctor. ‘We could give him milk diluted 221 water,
but that will not give him enough 222. As you know, I am
called in by many vegetarian families, and they do not 223 to
anything I 224. I think you will be well advised not to be so

225 on your brother.’ :

211. 1) Then 2)Hardly
3) Wherever 4) Quicker
5) Why

212. 1) heart 2) big
3)acute 4) hard
5) harsh

213. 1) unforgiving 2)hard
3) burly 4) severe
5) tough

214. 1) couple 2)felt
3) combined 4) joint
5) adjoining :

215. 1) brought 2)called
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3) invited 4) sent
_ 5) commissioned :
216. 1) negligent 2) soothed
3) rough’ 4) little
5)deep
217. 1) doctor 2) attendant
3) nurse 4) forefather
5) guardian .
218. 1) plead 2) hide
3)" pressurise 4) decide
5) proceed
219. 1) resolve 2)order
3) observe 4) diagnose
5)recommend
220. 1) casual 2) good
3) surgeon 4) handsome
5) insincere
221. 1) with 2) for 3)at
4) upon 5)in
222 1) dose 2)drug 3) intake
4) nourishment 5) punishment
223. 1) oppose 2) protest 3) subject
4) care 5) object
224. 1) oppose 2) take 3) prescribe
4) describe 5) propose ,
225. 1) hard 2) unkind 3) easy
4) wise - 5) careful






